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CHEMISTRY SSC-I
SECTION — A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itseif.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circie the correct option i.e, A/ B/ C / D. Each part carries one mark.

M

(i)

(i)

(iv)

(v)

(vi)

{vii)

{viif)

(ix)

(x1)

{xii)

If one mole of carbon contains x atoms, then what is the number of atoms contained in 12 grams of Mg?

A b B. 0.5x C. 2x D. 1.5 x
What is the mass of 4 moles of Hydrogen gas?

A. 8.064 gram B. 4.032 gram C. 1 gram D. 1.008 gram
Which Isctope is used in nuclear reactors?

A U-234 B. U-238 C. U-235 D. All of these
Value of Plank's constant is .

A 6.626x10 > Js B. 6.626x107**J.s

C. 6.626x10™* Js D. 6.626x10*° Js

How many elements were known by the end of the 18" century?

A 23 B. 65 C. 88 D. 109

Pericd humber of Phosphorus in Periodic table is

A 2" B. 3" o 4" D. 5"

Which of following atoms obeys Duplet rule?

A O, B. F, C. H, D. N,

Which of the following is a Covalent compound?

A. NaCl B. MgO - C H,O D. KF

At the Mount Everest what is the boiling point of water?

A. 70°C B. 80°C C. 90°C D. 100°C
What is the maximum amount of Sodium Acetate that can dissclve in 100 gram of water at 0°C ?
A 170 gram B. 119 gram C. 220 gram D. 320 gram
Oxidation state of Crin K,Cr,Q, is

A 12 B. 6 C. 3 D. Zero

Which of the following elements is most metallic?

A Al B, Na c. Mg D Li

For Examiner’s use only:

Total Marks: 12
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CHEMISTRY SSC-l
Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11x 3 = 33)

N Identify the branch of Chemistry, that is related to the following information:

a. Sulphuric Acid is weaker than HCL.

b. Gases can be compressed by applying pressure.

c. Hair contain a special class proteins called keratins which is present is nails and wool.
(i) Determine the formula masses of the following:

a. Urea (NH,),CO

b. Ammonium Nitrate NH ,NO,
(i) What were the conclusions of Rutherford’s experiment?

(V) Write any three uses of [sotopes?

{v) |dentify the group and period of 1237AI , ;?B . f;Mg on the basis of electronic configuration.

Vi) What is Atomic size? Write its trends in periodic table.

(

(Vi) What is the importance of Giue and Adhesives in our society?

(viil) Differentiate between Diffusion and Effusion of Gasses. Aiso give examples.
(

ix) Why does evaporation lower the temperature of Liquids?
(x) Define Saturated, Unsaturated and Super-saturated solutions. Also give examples.
(i) Differentiate between Colloid and Suspension, with the help of examples.
(xii) Define Oxidation Reduction reaction. Also give one example from daily life.
(xii)  Draw a labelled diagram of the Daniel’s cell.
(xiv} a Which of the given elements is more metallic and Why? Mg or Al
b. What is the importance of Mg?
C. F. oxidizes all the halide ions to free Halogens. How?

(xv) Compare reactivity of Alkali and Alkaline earth metals by their positions in the periodic table.

SECTION - C {(Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2 x10 = 20)

Q.3 a Define Electro-negativity. Explain the Electronegative characters of elements. Give examples. (04)

b. Give any three important uses of Platinum. (03)

c. What is Alloying? Also give example. (02)

d. Define Rusting of Iron. (01)

Q.4 a How can you manufacture Sodium Hydroxide from Brine? (04)
A solution is prepared by dissolving 10 gram of Haemoglobin in water to make up 1dm” in

volume. Calculate moiarity of this solution. Molar mass of Haemogiobin is 6.51 x 10* g/ mole. (04)

c. What is Concentration Unit? Give examples. (02)

Q5 a What is Vapour Pressure? Explain effects of temperature or: Vapour Pressure. (04)

Define Intermolecular forces. Explain Hydrogen Bonding found in Water. Also draw diagram. {04)

c. What is Shielding effect? Which atom has greater shielding effect and Why? Be or Mg. {02)
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CHEMISTRY SSC-I

SECTION — A (Marks 12)

Time allowed: 20 Minutes Revised Syllabus

NOTE:- Section-A is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over to the Centre Superintendent.
Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/B/ C i D. Each part carries one mark.

(xi)

(xii}

Which of the following is a molecular ion?
A CN- B, CN C. N D.  *N:
Which of the following isctopes is used to trace the flow of biood and detect possible constrictions or

obstructiors in the circulatory system?

A Cobalt-60 B. lodine-123 C. Carbon-14 D. Na-24
Atomic Numbers were discovered by

A Rutherford B. Moseley C. Dalton D. Bohr

In which group of the Periodic table is 1353 present on the basis of electronic configuration?
A. WV"Agroup  B. V" Agroup  C. VI"Agroup D VII™ A group
Due to high ionization energies, which elements do NOT lose electron?

A Metals B. Non-metals

C. Transition elements D. Radio active elements

Which of the following is Sublime?

A. HC1 (Acid) B. H,S0, (Acid} B. Benzonic Acid D. Caicium Carbonate
Meiting point of Sodium Chloride is .

A 701°C B. 801°C C. 901°C 0. 1001°C
Vegetable oil is converted into vegetable ghee by passing H2 gas through the oil. In this process

which of the following elements is used as a catalyst?

A Pt B. Fb C. Ni D. Cu

What is the oxidation state of Hydrogen ir case of Metalic Hydrides?

A +1 B —~1 C +2 D. -2

Which of the following is used as cathode in the Down's cell?

A Iron B. Platinum C. Graphite D. Aluminium
Which of the following is Milk of Magnesia?

A MgO B Mg(OH), ¢ MgCoO, D, Mg(NO,),
In Agua Regia, the ratio between HC#(conc)and HNO(conc)is

A 3:1 B. 21 C. 1:3 D. 1:2

For Examiner’s use only:

Total Marks: 12 (

N
Marks Obtained: [— .
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CHEMISTRY SSC-|

Revised Syllabus

Time allowed: 2:40 Hours Total Marks Sections B and C: 53

NOTE:- Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet-B if required. Write your answers
neatly and legibly.

SECTION - B {Marks 33)

Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x 3 = 33 )

(i) Differentiate between lon and Free-Radical. Give examples.

(i) Calculate the number of atoms in the following compounds:
a. 1.25 moles of Zn b. 0.2 mcles of Al

{iii) Write any three postulates of Bohr's atomic theory.

{iv) Chiorine has two isotopes. Draw the diagram to show the structure of isctopes of chicrine.
Also write the isotope symbols for each.

{v) Describe briefly the Shell and Sub-shell. Also relate electronic configuration with the Aufbau Principle.
(vi) In which period and group are the following elements present in the Periodic Table:
9 40
a. B b. ZMg c. s Ar

{vii) Define lonization Energy, Electron Affinity and Atomic Size.
{viii) State Octet and Duplet rule. How does Al form a cation?

(ix) Draw electron cross and dot structure for the following molecules:
a CCl, b. NH, c. CO,
() What is Boiling point? How does the external pressure affect the boiling point?
(xi) a. Define Boyle's Law.
b. Ethene is used as anaesthetie gas. When the pressure on 2.5 dm?® of ethene is changed from

1.05 to 2.10 atm, the volume of Ethene becomes 1.25 dm® , if temperature remains constant. Explain
this change using Boyle's Law.
{xii) Differentiate between Amorphous Solids and Crystalline Solids.

(xiii)  If 40 gram of urea (NH,CONH,) is dissolved in water to make 500 cm’ of solution then what is the
Molarity of the solution.

(xiv)  What is Solubility? Explain the attraction of Na* and C/~ions for water molecules. Also draw diagram.
{xv) Compare Solution, Suspension and Colloids with one example each.

SECTION — C {Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. _ (2 x10 = 20)
Q.3 a. What are the rules for assigning oxidation state / number? (04)
b. Breath Alyzer contains an acidic solution of Potassium dichromate K,Cr, O, .
Determine the oxidation state of Cr in it. (04)
c. What is Spontaneous process? Give its examples from daily life. (02)
Q.4 a. Write down any four chemical equations to compare the reactivity of the Halogens. (04)
Arrange the following compounds in order of increasing acidic and Basic characters: (2+2)
{i) HF  HI . HBr , HCI (ii) BeO . Ca® , MgC . SrO
c. What do you know about Silicon Chip? Write its uses. (02)
Q.5 a What is Shielding Effect? Which of the following atoms have smaller shielding effect: {1+4)
(i) F or C (ii) Li or Na (i} B or Al (iv) C or Si
b. How is Covalent Bond formed? White its types. Give examples for each type.
Also draw diagrams. (05)

—— 1SA 1308 (ON) —
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CHEMISTRY SSC-I
SECTION — A (Marks 12)
Time allowed: 20 Minutes (Old Syllabus)

NOTE: Section-A Is compulsory. All parts of this section are to be answered on the question paper itself.
It should be completed in the first 20 minutes and handed over tc the Centre Superintendent.

Deleting/overwriting is not allowed. Do not use lead pencil.

Q.1 Circle the correct option i.e. A/ B/ C/D. Each part carries one mark.

(i Which of the following is an exothermic chemical reaction?
A Combustion of natural gas B. Neutralization of a strong acid with strong base
C. Formation of ice D. Formation of COo from Carbon and Oxygen
(i) Which acid is present in Honey-Bee sting?
A Citric acid B. Tartaric acid  C. Lactic acid D. Formic acid
(iti) From which solution electricity can NOT pass?
A Urea B. Copper Chioride
C. Sodium Chloride D. Potassium Chioride
(iv) 16 cm’ alcohol is present in 80 cm® of its solution in water. What is the percentage by volume of

alcohol in this solution?

A 10% B. 15% C. 20% D. 25%
(v) On heating, some solids change directly into vapours. What is this phenomenon called?

A Evaporation B. Sublimation C. Meiting D. Boiling
(vi) What kind of bond wilt be formed between two atoms of Oxygen?

A lonic bond B. Covalent bond

C. Coordinate Covalent bond D. None of these

(vii) How many elements are present in the sixth period of the Periodic Table?

A, Thirty B. Thirty-two C. Thirty-four D. Thirty-three
(vill) Which of the following rays are NOT affected by the magnetic and electric field?

A Alpha B. Beta C. Gamma D. X-rays
(ix) Empirical formula of Benzene is CH. What is its molecular mass?

A 76 B. 77 C. 78 D. 79
(x) How many oxygen atoms are present in SO,7?

A Two B. Three C. One D. None of these
(xi) How many senses does a man use as a basic tool for observation?

A Three B. Four C. Five D. Six
{xil) What is the formula of Sodium Sulphate Decahydrate?

A NayS0,.10H,0 B. Na,S,04 5H,0

C. NaCi D. NaNO3

For Examiner’s use only:

Total Marks: i 12

Marks Obtained: - 7}
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CHEMISTRY SSC-I
(Old Syllabus)

Time allowed: 2:40 Hours Total Marks Sections Band C: 53

NOTE: Answer any eleven parts from Section ‘B’ and any two questions from Section ‘C’ on the separately
provided answer book. Use supplementary answer sheet i.e. Sheet—B if required. Write your answers
neatly and legibly.

SECTION — B (Marks 33)
Q.2 Answer any ELEVEN parts. The answer to each part should not exceed three to four lines. (11 x3=233)

(i) What is meant by Valency and Radical?
(i) What is Transmutation?

(i) What are Transition elements?

(

(

iv) Differentiate between a Covalent and Coordinate-covalent bond.

v) The process through which a sclute gets dissolved in the solvent is called Dissolution.
a. How does Sodium Chleride dissolve in water?
b. Indicate the Hydrogen bonding between water and ethyl alcohol molecules.

{vi) What are the objectives of Eiectroplating?
(vii) What facilities are provided by Chemistry to mankind? Write briefly.
(viil) Complete and balance the following equations:

a. BaCIz(aq) + KZSO4(aq)  —
Heat
b. KCIOB(S) iy
Heat
C. Zn(NOs)Z(S) _
(ix) How much solution of Sodium Chioride having concentration 4% by mass will be needed to contain
3 g of Sodium Chicride?
(x) The following reaction takes place when Carben is burnt in excess of Oxygen:
C(s) + 02(g) ——>COz(g) AH = -393.42kJ
a is the above reaction exothermic or endothermic?
b. How much heat is evolved when one gram of Carbon is burntin excess of Oxygen in

the same way?
{xi) Define Aufbau Principle.
{xi) When Chiorine reacts with water what compounds are formed? What is Chlorination of water?
{xiil)  Give reasons:

a. Metals have high meiting and boiling points.
b. High pressure changes the shapes of metals.
C. Metals are good conductor of electricity.
(xiv) Give reasons:
a. Hydrogen diffuses faster than Cxygen or Carbon.
b. it is easy to compress gaseous state of matter as compared to liquid.

{xv) Define Freezing Mixture with an example.

SECTION — C (Marks 20)

Note: Attempt any TWO questions. All questions carry equal marks. (2x10 = 20)
Q.3 Describe the different concepts about the definition an acid and a base. (10)
Q.4 Define Electrolysis. Explain Faraday's Laws of Electrolysis. (10)
Q.5 Describe any five features of the Modern Periodic Table. (10)
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